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Geometry

Circle Review Sheet
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2. In the diagram below, quadrilateral MONK is inscribed in circle J, mZKMO = 48° and
mZ.MON = 80°. Find the measures of mZKNO and m/ZMKN .
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3. In the diagram below, PSisa tangent to circle O at point S, @ is a secant, m£LQPS =35,
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4. In the diagram below of circle O, chords AB and CD intersect at E.
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If m£CEB =110° and mAC = 50 yyhat is DB 9

5. In the diagram, APis a tangent and PBCis a secant to circle O. If PB =2 and
BC =30, what is 4P ?
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6. In the diagram of circle O below, chord 43 intersects chord €D at E,DE=2x+8 8C=3,
AE=4x-13,and EB =4,

What is the value of x?
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7. In the diagram, AFB, AEC,and BG(Care tangent to circle O at F, E, and G,
respectively. If AB = 32, AE = 20, and EC = 24, what is BC?
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8. In circle O, diameters TA and CS are drawn. If m£ZCOA =60 and TA =10 cm, find
the area of sector SOA to the nearest hundredth of a square centimeter.

9. In circle O, diameters BOD and COA intersect at the center of the circle O. If the area
of sector OCD = 240s square inches and mZAOD =80 , find the measure of OB to the
nearest tenth of an inch.
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10. In circle O, the measure of central angle AOB is % radians

and the length of arc AB is 10 cm. What is the measure of
radius OBto the nearest tenth of a cm?
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11.In c1rcle O shown below, BR is a diameter and chords BU U U, and IR are drawn.

Which of the following statements is not true?
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12. Given: Circle O with diameters MOT and AOH.
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